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=] 1(H) 2(8) 3(N) 4(K) 5(K) 6(2) 7(%)
B X NEZYDFHENE | 7.86E-05 (BX) 1.02E-04 (8X) 6.52E-05 (BRX) 9.84E-05 (F]X) 8.03E-05 (2X) 8.12E-05 (]X) 8.84E-05 (]X)
(Bq/cm?3) *! ND*2  (8]N) ND*2 (&) ND*2 (&) ND*2 (&) ND*2  (8/\) ND*2  (8]/]\) ND*?2  (8]/]N)
=] 8(H) 9(H) 10(N) 11(K) 12(K) 13(2) 14(%)
HEHEIX NEZSDIHANE | 6.16E-05 (BX) 9.90E-05 (B]X) 1.20E-04 (8X) 6.87E-05 (B]X) 8.07E-05 (8&X) 1.08E-04 (8X) 7.73E-05 (8]X)
(Bq/cm?3) *! ND*2  (8/\) ND*2 (8 ND*2 (8 ND*2 (8N ND*? (8N ND*2  (B/\) ND*2  (8/\)
=) 15(H) 16(8) 17(X) 18(7K) 19(K) 20(2) 21(1)
EHEIX NEZSDHANE | 8.25E-05 (BA) 5.35E-05 (8]2K) 6.96E-05 (B]X) 8.83E-05 (8]X) 8.42E-05 (8|X) 5.76E-05 (&X) 6.04E-05 (B]X)
(Bg/cm?) *! ND*2 (&) ND*2 (&) ND*2 (&) ND*2 (&) ND*? (&) ND*2 (8] ND*2 (8N
=] 22(H) 23(8) 24(:N) 25(K) 26(K) 27(2) 28(%)
HEHIX NEZSDEHANE | 5.17E-05 (BX) 7.28E-05 (B]X) 8.60E-05 (F]X) 4,91E-05 (8]X) 7.65E-05 (]X) 1.08E-04 (&X) 7.42E-05 (8]X)
(Bq/cm?3) *! ND*2  (8/\) ND*2 (8 ND*2 (&) ND*2 (8N ND*2  (8/\) ND*2  (8&/\) ND*?2 (8N
=] 29(H) 30(A) 31(N)
BRI NEZSDIHANE | 7.04E-05 (BX) 8.70E-05 (]X) 8.43E-05 (B]X)
(Bg/cm?3) *! ND*2 (&) ND*? (&N ND*2  (8&/N)

%1 : RLOEHS X MEZSFHANBSEIRE
%2 : ND = &t
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